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1. The standard error of the mean of a random sample of size two or more 

(1) Always exceeds the population standard deviation. 

(2) Either exceeds or equals the population standard deviation. 

(3) Is always lower than the population standard deviation. 

(4) Is always equal to the population standard deviation. 

2. A store manager is trying to explore the relationship between percentage fat content 

(Y) and price (X) of various dairy products. He finds that the coefficient of 

determination is 0.4624 and the estimated regression line is Y = 0.5 — 0-02X. What 
will be the correlation of coefficient ? 

(1) 0.68 

(2) — 0.68 

(3) — 0.02 

(4) 0.4624 

3. Which of the following statements on testing of hypothesis is always true ? 

(1) When the null hypothesis is rejected at 5%, it is always rejected at 1% level of 
significance. 

(2) When the null hypothesis is rejected at 1%, it is also rejected at 5% level of 
significance. 

(3) When the null hypothesis is not rejected at 1%, it is rejected at 5% level of 
significance. 

(4) No definite assertion can be made. 

4. Cars are parked in a very big parking lot. A researcher is required to estimate the 

proportion of cars which are of red colour or the proportion of cars that are from a 

Japanese manufacturer. Which of the following statements is not correct ? 

(1) A convenience sample of cars parked near the gate may give a biased estimate of 
the proportion of cars which are from a Japanese manufacturer. 

(2) Different investigators may get different estimates for the proportion of cars 
that are red. 

(3) The sample proportion of cars that are red is an unbiased estimate of the 
population proportion if the sampling method is simple random. 

(4) A sample of 100 cars in a convenience sample is always better than a sample of 
20 cars from a proper random sampling method. 
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5. 	If a hypothesis is statistically significant, then it is concluded that 

(1) The observed result is probably not due to chance. 

(2) The observed result is probably a chance result. 

(3) The observed result cannot possibly be due to chance. 

(4) The null hypothesis of no relationship is probably true. 

6. When performing a Chi-square hypothesis test, what happens when expected 
frequencies in several cells are too small ? 

(1) Value of x2  will be overestimated. 

(2) The null hypothesis will be more likely to be rejected than it should be. 

(3) The degrees of freedom are greatly reduced. 

(4) (1) and (2), but not (3) 

7. In which situation are the methods of 'experimentation, modeling and sensitivity 
analysis' used to determine the information requirements of the management ? 

(1) Total uncertainty 

(2) High risk 

(3) Low risk 

(4) Certainty 

8. Two variables are said to be perfectly negatively correlated, if 

(1) Covariance between them is positive 

(2) Coefficient of correlation between them is —1 

(3) Covariance between them is negative 

(4) None of the above 

9. Which type of sampling is appropriate when the population consists of well-defined 
groups such that the elements within each group are homogeneous and between each 
group they are heterogeneous ? 

(1) Cluster Sampling 

(2) Simple Random Sampling 

(3) Stratified Sampling 

(4) Judgemental Sampling 
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10. Which of the following is a step in performing analysis of variance ? 

(i) Determine an estimate of population variance from within the samples. 

(ii) Determine an estimate of population variance from among the sample means. 
(iii) Determine the difference between expected and observed frequency for each 

class. 

Codes 

(1) (i) and (ii) only 

(2) (i) and (iii) only 

(3) (ii) and (iii) only 

(4) (i), (ii) and (iii) 

11. From the following, identify the decision-support systems : 

(i) Status inquiry system 

(ii) Data analysis system 

(iii) Accounting system 

(iv) Information system 

Codes : 

(1) (i), (ii) and (iii) only 

(2) (ii), (iii) and (iv) only 

(3) (iii) only 

(4) (i), (ii), (iii) and (iv) 

12. For nominal data, the only measure of central tendency that can be applied is 

(1) Arithmetic mean 

(2) Harmonic mean 

(3) Median 

(4) Mode 

13. Tukey-Kramer test is applied when 

(1) There is a significant difference between means of two groups. 

(2) There is a significant difference between means of three groups. 

(3) There is no significant difference between means of two groups. 

(4) There is no significant difference between means of three groups. 
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14. The steps taken to solve a problem are given below. Arrange them in the correct 
order 

(i) Analyse 

(ii) Test 

(iii) Implement 

(iv) Evaluate 

(v) Document 

(vi) Design 

(vii) Develop 

Codes : 

(1) (i), (vi), (vii), 	(v), (iii), (iv) 

(2) (i), (ii), (iii), (iv), (v), (vi), (vii) 

(3) (i), (vi), (iii), (ii), (iv), (v), (vii) 

(4) (i), (vi), (vii), (iii), (ii), (iv), (v) 

15. Arrange the steps given below in the proper order in the process of selection of 
samples : 

(i) Determining sample size 

(ii) Specifying sampling method 

(iii) Selecting samples 

(iv) Defining the population 

(v) Developing sample frame 

Codes : 

(1) (iv), (i), (v), (ii), (iii) 

(2) (iv), (v), (ii), (i), 

(3) (iv), (v), (i), 	(iii) 

(4) (iv), (i), (v), 	(ii) 

16. Which one of the following is not a qualitative forecasting method ? 

(1) Educated guess 

(2) Executive Committee Consensus 

(3) Delphi method 

(4) Linear regression method 
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17. The Graphical method can be used to solve 

(1) A Linear Programming Problem (LPP) with all integer data 

(2) A Linear Programming Problem (LPP) with two decision variables 

(3) Any Linear Programming Problem (LPP) 

(4) A transportation problem with two origins and two destinations 

18. If the sample size is less than 50, which non-parametric test can be used to test the 
independence of attributes ? 

(1) Chi-square test 

(2) Fisher-Irwin test 

(3) Cochran Q test 

(4) Kruskal-Wallis test 

19. Match the items given in List I with the most appropriate options given in List II : 

List I 	 List II 

I. Centroid Method 	 a. Multiple Regression 

II. Hierarchical Method 	 b. Factor Analysis 

III. Relationship between a single 	c. MANOVA 
metric dependent and two or 
more independent variables 

IV. The main and interactive 
effects of categorical variables 
on multiple dependent interval 
variables 

Codes : 

I II III IV 

(1) d b a c 

(2) b d a 

(3) b d c a 

(4) d c 	a 

d. Cluster Analysis 
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20. Identify the window not associated with SPSS. 

(1) Editor 

(2) Syntax 

(3) Output 

(4) Format Cells 

21. The Delphi method of estimating future deniand for a product or service is associated 
with 

(1) Past sales analysis 

(2) Expert opinion method 

(3) Market test method 

(4) Composite of sales force opinion 

22. A variable which has a strong contingent effect on the independent dependent 
variable relationship is referred to as 

(1) Extraneous variable 

(2) Intervening variable 

(3) Moderating variable 

(4) None of the above 

23. Coefficient of determination (R2) indicates 

(1) Percentage of variation in the dependent variable that can be explained by the 
independent variable. 

(2) Percentage of variation in the dependent variable that cannot be explained by 
the independent variable. 

(3) Percentage of variation in the independent variable that can be explained by the 
dependent variable. 

(4) Percentage of variation in the independent variable that cannot be explained by 
the dependent variable. 

24. 	If a = 0.05 and 13 = 0.10, the power of that hypothesis test is 

(1) 015 

(2) 0.90 

(3) 0.85 

(4) 0.95 
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25. Mean, Median and Mode are 

(1) Measures of deviation 

(2) Ways of sampling 

(3) Measures of central tendency 

(4) None of the above 

26. Research is 

(1) Searching again and again 

(2) Finding a solution to any problem 

(3) Working in a scientific way to search for the truth of any problem 

(4) None of the above 

27. Which of the following is the first step in starting the research process ? 

(1) Searching sources of information to locate the problem 

(2) Survey of related literature 

(3) Identification of the problem 

(4) Searching for solutions to the problem 

28. A common test in research demands much priority on 

(1) Reliability 

(2) Usability 

(3) Objectivity 

(4) All of the above 

29. Action research means 

(1) A longitudinal research 

(2) An applied research 

(3) A research initiated to solve an immediate problem 

(4) A research with socio-economic objective 

30. A reasoning where we start with certain particular statements and conclude with a 
universal statement is called 

(1) Deductive Reasoning 

(2) Inductive Reasoning 

(3) Abnormal Reasoning 

(4) Transcendental Reasoning 
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31. Which of the following variables cannot be expressed in quantitative terms ? 

(1) Socio-economic Status 	 (2) Marital Status 

(3) Numerical Aptitude 	 (4) Professional Attitude 

32. In the process of conducting research 'Formulation of Hypothesis' is followed by 

(1) Statement of Objectives 

(2) Analysis of Data 

(3) Selection of Test Tools 

(4) Collection of Data 

33. A research paper is a brief report of research work based on 

(1) Primary Data only 

(2) Secondary Data only 

(3) Both Primary and Secondary Data 

(4) None of the above 

34. Which of the following should not be a consideration in writing a proposal ? 

(1) Understanding the purpose behind the request for proposal 

(2) Understanding the problem situation 

(3) The appearance/form of the proposal 

(4) Responding to every element as specified by the client 

35. A 	scale only assigns names to objects to classify the objects according to the 
characteristic of interest. 

(1) Ratio 	 (2) Ordinal 

(3) Nominal 	 (4) Interval 

36. A telephone company is interested in obtaining the views of customers to a new 
service package. Which of the following primary research methods would be most 
effective in reaching this audience to obtain their feedback ? 

(1) Mall intercept interviews 

(2) An Internet survey 

(3) Telephone interviews 

(4) A mail survey 
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37. When issues to be addressed are personal, sensitive, or subject to strong social norms, 
a qualitative research technique generally recommended is 

(1) Focus groups 

(2) Mini-groups 

(3) Laddering 

(4) Projective research 

38. What type of sample involves some forth of random selection so that every member of 
the sampling frame has an equal, non-zero chance of being included in the sample ? 

(1) Probability sample 

(2) Census equivalent sample 

(3) Zero-bias sample 

(4) Non-probability sample 

39. Conditions favouring the use of a sample over a census include a 

(1) Small population size 

(2) Long time frame 

(3) Destructive test of unit 

(4) High cost of sampling errors 

40. Increasing the size of the sample is likely to 

(1) Decrease sampling errors but increase non-sampling errors 

(2) Increase sampling errors but decrease non-sampling errors 

(3) Decrease both sampling errors and non-sampling errors 

(4) Increase both sampling errors and non-sampling errors 

41. A recent study of car owners indicated that 10% felt Brand A had the best quality, 9% 
felt Brand B did, and 6% felt other models did. The remainder had no opinion. The 
advertising claim that most car owners who gave an opinion believe that Brand A has 
the best quality is an example of which is  

(1) Biased research, unethical 

(2) Effective advertising, ethical 

(3) Misleading reporting, unethical 

(4) Incomplete reporting, unethical 
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42. If a company is interested in determining the in-store shelf exposure of their brand 
versus competitive brands, the most effective way to obtain this information is via 

(1) Scanner data 

(2) In-store intercepts with consumers observed purchasing a product in the 
category 

(3) Telephone interviews with individuals who made a recent category purchase 

(4) An Audit 

43. Which of the following is false with regard to the benefits of multiple-choice questions 
over open-ended questions ? 

(1) The use of multiple-choice questions reduces interviewer bias. 

(2) Multiple-choice questions are easier to design. 

(3) Multiple-choice questions are less costly for coding and data processing. 

(4) Multiple-choice questions are quicker to administer. 

44. Detailed and unambiguous instructions are particularly important for 

(1) Interviewer-administered personal interviews 

(2) Computer-assisted telephone surveys 

(3) Mail surveys 

(4) Computer-assisted personal interviews 

45. If an interview is conducted with a respondent who does not meet the qualifications 
for a study, what kind of bias has occurred ? 

(1) Position bias 

(2) Responded bias 

(3) Lifestyle bias 

(4) Non-response bias 

46. Setting quotas for hard-to-reach respondents is one way to minimize 	bias. 

(1) Respondent 

(2) Interviewer 

(3) Instrument 

(4) Non-response 
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47. Eliminating a respondent's survey due to many questions being left blank is referred 
to as 

(1) Pairwise deletion 

(2) Neutral value deletion 

(3) Casewise deletion 

(4) Variable deletion 

48. To standardize a scale, subtract 

 

from 	and divide by 	 

 

(1) the standard deviation, the variance, the mean 

(2) the mean, each score, the standard deviation 

(3) each score, the standard deviation, the mean 

(4) each score, the mean, the variance 

49. If a nominal scale is used, it is permissible to calculate which of the following 
statistics ? 

(1) Mean 	 (2) Standard deviation 

(3) Range 	 (4) Mode 

50. Multicollinearity occurs when 

(1) There are high intercorrelations among the independent variables. 

(2) The independent variables are mutually exclusive. 

(3) The independent variables are irrelevant. 

(4) There are too many independent variables. 

51. Logistic network through which unwanted or excess products are sent by resellers or 
consumers is classified as 

(1) Inbound distribution 

(2) Outbound distribution 

(3) Forward distribution 

(4) Reverse distribution 

52. The impact of cost reduction on profits is much larger than the impact of increased 

(1) Innovation 
	

(2) Production 

(3) Information 
	

(4) Sales 
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53. Operations Management is a 

(1) Translation 

(2) Transformation 

(3) Transaction 

(4) Transition 

 

process. 

 

54. Which of these would an operations manager not be responsible for ? 

(1) Safety and maintenance 

(2) Sales and marketing 

(3) Selecting suppliers 

(4) Recruiting employees 

55. Services differ from manufactured products in four ways, Intangibility, 
Inseparability, Perishability and 	 

(1) Homogeneity 	 (2) Heterogeneity 

(3) Intractability 	 (4) Invisibility 

56. One of the criteria discussed within cost as an order winner or order qualifier is 'value 
added'. This means 

(1) A characteristic of a product or service that a customer expects as a minimum 
standard. 

(2) A characteristic of a product or service that a customer is willing to pay more for. 

(3) A characteristic that is present in the highest quality products or services only. 

(4) A characteristic of a product or service that a customer does not expect. 

57. Supply chains link operators to suppliers in 

(1) Layers 
	

(2) Groups 

(3) Tiers 
	

(4) Channels 

58. The main benefit to an operation of having multiple sourcing is 

(1) Consistent quality 

(2) Speed of delivery 

(3) Continuity of supply 

(4) Flexibility of products 
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59. An operations strategy is created directly from the 	strategy. 

(1) Corporate 

(2) Marketing 

(3) Business 

(4) Human resource 

60. Firms try to achieve competitive advantage by competing on 

(1) Cost only 

(2) Order winners 

(3) Quality only 

(4) Order qualifiers 

61. As per the BCG Matrix, the products which have a high relative market share but low 
rate of market growth are termed as 

(1) Stars 

(2) Cash cows 

(3) Dogs 

(4) Question marks 

62. Booms and Bitner incorporated a further 3 Ps into the traditional 4 P marketing mix 
to illustrate how a different approach is required for services marketing. These 
additional 3 Ps are 

(1) People, Packaging, Process 

(2) Physical evidence, Productivity, People 

(3) Planning, People, Process 

(4) Physical evidence, Process, People 

63. To segment consumer markets different segmentation bases (like behavioural, 
psychological, demographic) are used. Which of the following is not a part of 
behavioural segmentation ? 

(1) Consumption/Usage 

(2) Personality 

(3) Media usage 

(4) Technology usage 
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64. 	 approach to international market development views the domestic market 
(home market) as the most important one. 

(1) Ethnocentric 

(2) Polycentric 

(3) Regional 

(4) Geocentric 

65. The number of products available in a 'product line' is termed as 

(1) Product line depth 

(2) Product item 

(3) Product line length 

(4) Product mix 

66. Which of the following statements is not true regarding pricing for new products and 
services ? 

(1) Market penetration price refers to charging a lower price in the hope of 
generating a large volume. 

(2) A more inelastic product demand curve would give greater revenue from a 
market penetration price than a market skimming price. 

(3) The skim pricing approach is a fairly standard approach for high-technology 
goods and services. 

(4) The market penetration pricing approach is often used for fast-moving consumer 
goods. 

67. The sequence of various stages in the hierarchy of effects model is 

(1) Awareness, Knowledge, Liking, Preference, Conviction, Purchase 

(2) Knowledge, Awareness, Preference, Liking, Conviction, Purchase 

(3) Awareness, Knowledge, Preference, Liking, Purchase, Conviction 

(4) Awareness, Liking, Knowledge, Preference, Conviction, Purchase 

68. Which of the following tools of the marketing communication mix will generally have 
a low 'level of control' as well as a low 'cost' ? 

(1) Advertising 
	

(2) Sales promotion 

(3) Personal selling 
	

(4) Public relations 
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69. The intensity of channel coverage involves choosing between three basic types —

intensive, exclusive or selective distribution. Which of the following does not 
characterise as 'exclusive' distribution ? 

(1) Channel members are few in number and well-established 

(2) Customers are many in number and are convenience oriented 

(3) Emphasis is on personal selling, pleasant shopping conditions and good service 

(4) The objective is to have a strong image and channel control 

70. Which of the following is the highest level of customer loyalty ? 

(1) Price loyalty 

(2) Monopoly loyalty 

(3) Emotional loyalty 

(4) Incentivized loyalty 

71. In the recent years, the world economy has witnessed the influence of unconventional 
monetary policy pursued by the developed nations. This policy stance is known as 

(1) Bank Rate 

(2) Taylor Rule 

(3) Reserve Requirement 

(4) Quantitative Easing 

72. Consider the following two statements : 

Statement I : Bond value would decline when the market rate of interest rises. 

Statement II : There is a positive relationship between the value of a bond and the 
interest rate. 

Select the correct code : 

(1) Both the statements are correct 

(2) Statement I is correct but statement II is incorrect 

(3) Statement II is correct but statement I is incorrect 

(4) Both the statements are incorrect 

Ph.D. MGMT 	 30 



69.  	dIsidl t41-14-zr4 51st lt 	arAwf zrt V4-q frdrur * 	wzrq 	*ii 

7rrf4F t I PHRIRgi -4* 	 -14*Erur `3T-4-4 f4-dtur *'r q-e ? 
(1) kit-airaflumft 

(2) :IWzt) 	("6411  t 3T4R  #411-I dttSI 

(3) 044141 , 11 Pist)ti, t(gc T§rfrq-rft 41 . 	atIK 3T- 9. 14-0-r TR 	tRT 

(4) d 	qq iiTt.a. 	 -144-lut 	 

70. P4-11-CiRid 	Aq-TIT mcn Pool 'Wr 3molc1 1-1 17R ? 

(1) Vel -1 11461 

(2) WRT*7(141 5T 

(3) VT4-471:M Pitvit 

(4) si 	 

71. 	 qtil> raga aiztargm 4 ct.) d 	aTcrtErwrff *It* 	d 	 ' 
AFT Atft 	 19-r Aim ? 

(1) 

(2) ot Pq4-1 

(3) 	aTW1 

(4) 	 

72. -14-1 Ri R ct• -2,/91 TR ?"4- TK 04R : 

-R I : 	0041•71 l 611;x11k 	A'q \TA 	of us iiTff 1ER AR1 11 

WaR II : GITuS 	Att-0-1 3T t eell\il 	 i tichitioict) 

ti41 misr 	if -A7 : 

(1) 1 	-11 ctA-I 

(2) W I ki41 Af*7 W II 

(3) W II t.141 Af"*7 W I 

(4) 31 1 	 enxii iiCld 

Ph.D.MGMT 	 31 



(4) 

73. Match the following techniques of capital budgeting given in List I with one of the 
characteristics given in List II and select the correct code : 

List I 
	

List II 

I. NPV 

II. IRR 

III. Profitability Index 

IV. Payback Period 

Codes : 

I 	II 	III IV 

(1) a 	 d 

(2) b 	c 	d 
	a 

(3) c 	d 	a 	b 

(4) d a 	c  

a. Under certain circumstances its 
reciprocal is a good approximation 
of the rate of return 

b. Shareholder's wealth maximisation 

c. Possibility of multiple outcomes in 
single calculation 

d. Measure of project's relative 
profitability 

74. In case of redeemable debentures issued at discount and to be redeemed at par, 
approximate cost of debentures (before tax adjustments) will be equal to 

Rate of interest 

Amount of interest divided by issue price 

Amount of interest divided by par value 

Amount of interest + [Par value — Issue price 

(Par value + Issue price  ) 
2 

75. While granting the term loan, if the lending institution puts a condition to reduce the 
debt-equity ratio by issuing additional equity share capital or preference share 
capital, it is known as 
(1) Asset related restrictive covenant 
(2) Cash flow related restrictive covenant 

(3) Control related restrictive covenant 
(4) Liability related restrictive covenant 
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76.  

77.  

According to CAPM model, the cost of equity is represented by 

(1) 	RM + (RM  — RF) 	 (2) 	RF + (RM — RF) 

(3) 	Bj  + (RM  — RF) RM 	 (4) 	RM  + RF + Bi 

The segmental reporting section in a company's annual report and accounts includes 

(1) Details about subsidiary companies 

(2) Departmental analysis of the Income Statement 

(3) Information analysed by class of business and geographical locations 

(4) A list of company's products 

78. The statement of cash flows tells us 

(1) How much cash has been received and paid during an accounting period 

(2) How much profit the business has made during an accounting period 

(3) The financial position of the business at a point of time 

(4) The forecast of cash movement over a period of time 

79. What is the difference between Current ratio and Quick ratio ? 

(1) Current ratio includes inventories and Quick ratio does not. 

(2) Current ratio does not include inventories and Quick ratio does. 

(3) Current ratio includes physical assets and Quick ratio does not. 

(4) Current ratio does not include physical assets and Quick ratio does. 

80. What is a leveraged buyout ? 

(1) It is a type of joint venture. 

(2) It is an acquisition in which a large acquirer has leverage through bargaining 
power over a small target. 

(3) It is an acquisition which is funded from a relatively large amount of debt. 

(4) It is an acquisition which is funded from a relatively small amount of debt. 

81. A purely competitive market has 

(1) A large number of buyers and sellers 

(2) A few sellers 

(3) A few buyers 

(4) Abnormal profit 
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82. The basic form of Innovation is 

(1) Introduction of novel production process 

(2) Improvement and development of existing process 

(3) Improvement and development of existing firm 

(4) All of the above 

83. Diversification in a new business area which has no obvious connection with any of 
the company's existing areas is known as 

(1) Forward integration 

(2) Backward integration 

(3) Conglomerate diversification 

(4) Concentric diversification 

84. A company following ethical standards must have 

(1) Good Employee Relations 

(2) Better Production Portfolio 

(3) Economy of Scale 

(4) Public Disclosure and Publishing 

85. Which type of business cannot afford Corporate Social Responsibility (CSR), 
initially ? 

(1) Large Business 

(2) Medium Business 

(3) Small Business 

(4) Start-up Business 

86. An increase in income leads to a decrease in demand for 	, other things being 

constant. 

(1) Superior goods 
	

(2) Inferior goods 

(3) Both (1) and (2) 
	

(4) None of the above 

87. The 	provide(s) direction, serve(s) as standards for evaluating performance 

and motivate(s) members of the organisation. 

(1) Mission 
	

(2) Values 

(3) Objectives 
	

(4) Goals 
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88. Out of the following, which one is not a trading block ? 

(1) NAFTA 

(2) ASEAN 

(3) SAARC 

(4) IMF 

89. Takeover is 

(1) The acquisition of part of an undertaking to enable the acquirer to increase the 
market share of the product concerned. 

(2) The acquisition of certain block of equity capital of a company which enables the 
acquirer to exercise control over the affairs of the company. 

(3) Taking over the responsibility to have a trade agreement for the finished 

product. 

(4) Taking over certain long-term liabilities of another group company to help it 
financially. 

90. The best technique to manage the existing products is 

(1) Ansoff matrix 

(2) BCG matrix 

(3) McKinsey 7-S Framework 

(4) Five forces of competition 

91. The horizontal expansion of jobs is termed as 

(1) Job enlargement 

(2) Job enrichment 

(3) Job sharing 

(4) Job involvement 

92. Which of the following is not a fringe benefit ? 

(1) Transport 

(2) Subsidised canteen facilities 

(3) Free education to the children 

(4) Dearness Allowance 
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93. In the 'Managerial Grid' 9,1 style is termed as 

(1) Team Management 

(2) Country Club Management 

(3) Authority Obedience 

(4) Improvised Management 

94. Which of the following statements is not true in case of manpower planning ? 

(1) It is a process by which an organisation should move from its current manpower 

position to its desired manpower position. 

(2) It is an integrated approach to perform the personnel function required to meet 

organisational and individual objectives. 

(3) It involves forecasting human resource requirements. 

(4) It is a process to discover a source of manpower. 

95. Which one of the following is not a step in Planning ? 

(1) Establishing objectives 

(2) Developing premises 

(3) Determining alternative courses 

(4) Identifying needs of employees 

96. The following is the right process of training : 

(1) Instructional design, validation, need analysis, implementation and evaluation 

(2) Need analysis, instructional design, validation, implementation and evaluation 

(3) Need analysis, validation, instructional design, implementation and evaluation 

(4) Instructional design, need analysis, implementation, validation and evaluation 

97. According to Tiedler's Contingency Model of Leadership', which one of the following is 

a situational variable ? 

(1) Leader — Member relationship 

(2) Organisational system 

(3) Degree of task structure 

(4) Leader's position power 
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98. A Trade Union means "An association of workers in one or more professions carried 
on mainly for the purpose of protecting and advancing the members, economic 

interest in connection with their daily work". 

Identify the author. 

(1) Sidney and Beatrice Webb 

(2) J. Cunnison 

(3) G.D.H. Cole 

(4) Clyde E. Dankert 

99. Which of the following is not one of the ego states of transactional analysis ? 

(1) Child 

(2) Young 

(3) Adult 

(4) Parents 

100. Which of the following is not within the scope of "Adjudication" ? 

(1) Conciliation 

(2) Labour Court 

(3) Industrial Tribunal 

(4) National Tribunal 
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